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Reg.No. 819
Name

First Year Higher Secondary fmprovement Examination
Part - III

COMPUTER SCIENCE
Maximum : 60 Scores

Time : 2 Hours
Cool off time : 15 Minutes

Generol Instructions to Candidates :
o There is a 'Cool off time' of 15 minutes in addition to the writing time of

2 hrs.
o You are neither allowed to &.rite your answers nor to discuss anything

with others during the ,cool off time,.
o Use the 'cool off time' to ger familiar with questions and to plan your

answers.

a Read the questions carefully before answering.
a A11 questions ar.e compulsoi.r. ancl only internal choice is allowed.
a When you select a question. all the sub-questions must be answered from

the same question itself.

' calculations, figures and graphs shourd be shown in the answer sheet itself.
o Malayalam version of the questions is also provided.
a Give equations wherever necessary.

' Electronic devices except nonprogrammable calculators are not alowed
in the Examination Hall.

crfl6e6rloeon6:

o crilaqlord's cruococanilcri cu3c,5)0 15 01edl6 'a300 aco-o' ooso, gonecrorolao30.
pT cr0oor(6ro" c-1tco;6rndao' 2G,rooo oogJo.)cccnc, ogJggoloJoccoJl n.orclaa)
oJlcrJl o coro msoroccmc otcdlg.

.o gorooor:cd o6s3co3cmollcri o3mt- co.tco;rn:c6 6galco_t36r2o clcco/laoemo.
a notJc co.tcr:;onc6ao3o gcdrooo o€)e3.o6mo.

I eioJ co:ca;rnm:6 gomooogJrocrfl oroooourosgroro3 a.rl eruro ccd go.t
GeJCeJ6[Bgo Groc(o GoJcGJ mmroko? crilcm" ororm ocooo6rorosJc4oaneocem".
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pgahtsc6nr6; goJ&o6mclJJo otdia,vcooc$nfl go-tcco-rccnllao3cLtcca .t-slg.
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Who is known as the father of
Modern Computer Scibnce?

a) Alan Turing

b) John von Neumann

c) Charles Babbage

d) Ada Lovelace

Which one of the following is
NOT a free and open source

software?

a) GNU/ Linux

b) MS Office

c) GIMP

d) Mozilla Firefox

Which among the following is
NOT a recommended method for
e-waste disposal?

a) Reuse

b) Incineration

c) Land filling

d) Recyciing

Which one of the following is
NOT an iteration statement in
C++?

a) while

b) continue

c) for

d) do ......... while

(1)

(1)

(1)

4.

1<R-t72

(1)
(1)
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1. rorgcugmle, anu53gd orox6nulocf,

oJl<ocoJ ogmol@rddsJmci
Grooo(aJc6i'n'?

a) nroac6 sScrlocrl

b) cecer6 ecucrrB mgocr6

c) arccBml eaLcoerud

d) nrool amaml

a4cuos oal6ndlrdlacr3rmcuollrd free

and open source software
oogconcf o6ol?

a) GNU/ Linux

b) MS Office

c) GIMP

d) Mozilla Firefox

.c.4cuos ool6orufl dlaoermoJertd

e-waete dl0oocGeemrurullrd o3o.rc6o

oaJgqJecoro ooA(Ao o6rocfirt?

a) Reuse

b) Incineration

c) Land filling

d) Recycling

-a4cuos eor6oolkddoJcroauold C++

oer iteration statement oagooruld

ne<ot?

a) while

b) continuo

c) for

d) do ......... while

(1)

(1)

(l)

3.

4.

2
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Wri-te an output of the following
C++.9!atements.

for (int n = -5; n<=5' n++)

p ,= p*n;
cout<R);

a) 25

b)0
c) -25
d) None of these

An array is declared as follows :

int a [5] = {L, 2, 3, 4, 5};

What will be the value of
a[2] + a[3]?
a)7
b)5
c)6
d)4

Which one of the following is
NOT equal to others?

a) pow (64, 0.5)

b) pow (2, 3)

c) sqrt (64)

d) pow (3, 2)

Which one of the following
transmission media carry
information in the form of light
signals?

a) Coaxial cabie

b) Shielded twisted pair

c) Optical fibre cable

d) wi-Fi

6.

(1)

(1)

(1)

8.

KR-172

(1)

Turn Over
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,rlcuog c.o.i 6 orol olaoSrm C++
lormtoccurnagos output o6;e3ro3a.

int p=1,

for (int n = -5; n<=5. n++)

P = p*ni
cout<<pi

a) 25

b)0
c) -25
d) gcuoorcnn3o rorg (1)

6OJ array aj3Cuos c-ol6Oro1o1ao3o

co.jcoer declare o-o.rofofl gene':

inE a [5] = tL, 2, 3, 4, 5l;
a[2j + a[3j olAos c ]a 116rrol"?

a)7
b)5
c)6
d) 4 (1)

oJlc!os a.cr 6 rrnDl olaotrmcu oJln0

o6aggcu olao" <o3a;o oogcorooi ogoi?

a) pow (64, 0.5)

b) pow (2,3)

c) sqrt (64)

d) pow (3, 2) (1)

,J3cuos o-o:6oro1o1aogrm o6oi
(ruoo(oJ6e6rD OC(1)JOOC6TD' OII(UO5UBOg

(oJACOA (OOoO)

oacene3eo-.na3rmro?

a) Coaxial cable

(oeq.J 6ID1afr

b) Shielded twisted pair

c) Optical fibre cabie

d) wi-Fi (1)

6.

8.

tf
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SIM card is a smart card used
inside a mobile phone. What is
the full form of SIM?

a) Subscriber Identitv Module

b) Subscriber Identity Mobile

c) Subscriber Identification
Mobile

d) Single Identity Mobile

. Which one of the following
terms refers to ethical hacker?

a) Black hat

b) BIue hat

c) Grey hat

d) White hat

. Which one of the following
statements is INCORRECT?

a) Syntax error occurs due to
violation of rules of the
programming language.

b) [ncorrect punctuation is an
example of syntax error.

c) Language processors detect
syntax error during
translation.

d) Language processor
translates source code into
machine code even if syntax
error is present in the
program.

12. Internet is an example of ...........

a) MAN

b) PAN

c) WAN

d) LAN

I<R-172

(1)

(1)

(1)

.- (1)

819

9. SIM card, oocooenLras coocernkd

potcarcorlaoJrm 6r(o3 cu'oc63

6cao!c6m-. ogmrcem" SIM oco.ore65{g

O3o-jo ?

a) Subscriber Identitl' Module

b) Subscriber Identity Mobiie

c) Subscriber I de ntific a tio n
MobiIe

d) Single Identity Mobile (1)

10. -o.r3cu os car 6 ool ol aoScm cu o;l rd

ethical hacker om nu3d)g.flao3rm

ol€o .)0(6)'?

a) Biack hat

b) BIue hat

c) Grey hat

d) White hat (1)

oJJoJos c-a.r dorofl ol ao3cm cu coi a

<ao1or gc<uol 1or nu"roccu m o€]af?

a) Syntax error pensca3cmoi
programming language orf,

mlorooBci aooeLl€ol.mtoJ

o6c61BC6m'.

b) oaolco.rgcoro -a.r'l orn o1s3cm oi
syntax error cri gecnoosmocem".

c) Language processor acB

syntax error or ol ecogg

m)oar([rir" 6o6r'rBoYo}o.

d) program cd syntax error
goeneelon Go:cer3o Language
processor, source code om

machine code cer6o"

o:olecoslogs3oro3o. (1)

Internet ereoros Grr 6 rr'rDlol€oJr.m

cucoJl(6 ogoilocfr gGcooo6mo cro6ni?

11.

12.

4

a) MAN

b) PAN

c) WAN

d) LAN
' (1)
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-\Iatch thu,following.
I

I

( 2) I 13. crtoloarsl cr-.raeo,1a.

a) First Generation Computer
...,..

i) Microprocessor

b) Seconti Generation Computer ii) Vacuum Tube

c) iii) Tlansistor

d) Fourth Generation Computer iv) Integrated Circuit

lonsider the following C++ lt+, -3-o. oo,cs3corololao3rm
program. 

I 
program o.lro1cl:6niaoj€,.

Einclude<iostream> 
| #include<iostream>

-rsing namespace std; I usino namespace std;
inr main O I inr nain o

3har srr [20]; I char srr [20];
:in>>scr; I

:ouL<<sLr; I 1""..]1.,jl,
What will be the output if we | ol-* "Vande Mataram',
nput the string "Vande I string input or4o, mnfla,lcolc
\{ataram,,. Justiry your answer. ,r, 

I H*,"iffi::tre.J
I

rite an aloor"i+h,''' fn alra^L lr< ^,'-1-.^^ ^^.Write an
whether a
or odd.

algorithm to
given integer

OR

check
is even

Draw a flow chart to compute
average of three numbers. (Z)

16. Identify and classify tokens in
the following C++ s121gr..1.

cout<<"The Missile Man,,; (2)

r.B.-172

819

(2)

15.

C++

morDr,0 v anoe lvlataram ' og)ffn
string input lrgco/l mcda,lcolcd. pc
program (DoJnn output
o,6curcco-llo1ao3o ? rnlongos gorooooro
m;ccollaolao3a,. (Z)

orcmlggg oo3 o:36e6q fiDoorJ, 68
o)o5rjJ(0lCc6lDc pos ffDo6rja)ccfinC

oo.m" m16 6{9 (ol do jrm.ot mJgg 5loa(2')

OT onfl ccncroilroo oOvJ(6)J6

oooge,1nfl

oJ.m" (ruoo{AgJos cnoccaol

e6rD6ocdo3.m(6f m3gg ao3 flow
chart cr-t oo.r"ao3a,.

16. -o.r;crt os cal A to.trll o'l€o3cm C++
1o-.i mr"o C cu m OI o ei tokens
oi aj14 cllemor" rooo cdilciloqeJ(DJe.

cout<<"The Mj ssife Man', ;

(2)

(2)

(2)

Turn Over5
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Write output of the following
Q++ program. -,.. :

#include<iostrear>

using namespace std;

int main o

t

inta=L,b=),.c=J;

cout<< a+b+c/3;

cout<<"\n,,i

cout<< (a+b) *e;

i (2)

Write C++ statements to double
each element of the array
int A[100]. (Z)

Write a recursive C++ function
that returns sum of the frrst a
natural numbers.

NAND gate is known as
universal gate because it can be
connected to other NAND gates
to generate any logic function.
Show how will you connect
l\rANI) gates to produce OR gate,
AND gate and inverter.

(2)

(3)

19.

20.

21. Write the different types of
program documentation with
their importance.

KR-772

(3)

21.

819
17. o-l3cuos era,cs3orololao3cm C++

program o(0 output 9oe3(6)l6.

*include<iostrea:n>

using namespace std;
j.nt main ( )

(

inta=1,b=2,c=3;

cout<< a+b+c,/3 .

cout<< " \nu ;

cout<< (a+b) tc;

) (2)

18. int At100l o6ym array oroer
6CCOC element go
po$orcaogrmorlm3gg
(oJ(ru"(ocol mad oOeJ(oJ&. (2)

GrocJo(uro n oo6xBr6 mrar;e,gas ro3ar

return 6rJgJ(m oo3 recursive
C++ furction ooeloJ6. (2)

NAND gate arcA oc(oo erunfungflgi'
o6yo3 logic function go generate
oeJgcculcm(o8oarc6rB" Go(o1om

universal gate o6(mc6m'
oJlpf ao3rmoi. NAND gates
go:eorccrJlg[ nlloncd OR gate, AND
gate, inverter o6crnlcu o€)6[Bom

crll6d)ao3oogmia,cerllaol-a-,. (S)

o]lojltuoroo program
documentation drg3o GmcuolJos

(orcurcmJoreo ooee(DJ6. (A)

C++

19.

20.

6
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Write,..value returned by the
following C++ expyur*iorr. tt
*=10 and J=20.

a) p15 ll y>15

b) I>15 && y>15

c) ! (py) (3)

Consider an array A with the
fr:llowing elements sorted in
ascending order.

5,9, 10, 13, 16, 17, 19,20,25,37.

Explain the working of binary
search algorithm to search 2b.

How many comparisons are
required for this searching? (3)

24. List any three string functions
in C++ and specify the value
returned by them. (B)

25. Explain the advantages of
forming networked computers
than keeping stand-alo4e
computers.

..':

z
ui

J
thvtI

z
ui

Jqt
ah
I

2
-:
l!

J
th
tl
-
z
UJ

Jti
ut
J-

(3)

I<R-772 Turn Over
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22. x=IO po g;20 erJo rrglcocrol -at3ruos

c-oldonilolao3crn C+- expressions

oo3rm o_flerc,o? o6rror"?

a) r>15 11 y>15

b) ,>15 &&y>15

c) !(r>y) (3)

23. -o.r3cr.ros oocsSorol ol.eo3m

Gl0cocoo6m (Aor6{Ejl EEg rTuo6dj6ca A
o€)rn array olletpgcoce-m-.

5,9. 10, 13, 16, 17"L9,20,25,37.

25 o6rm item pc array o.flnfl georcc

.z€)rm' aJ6,6rBorD;cmortcd binar;r
search algorithm o616^dB o(i)

(or oJ 6 orol €o3o o ffif oloe ocao3a.

gor1m3 cooreloio3cm

c)co(ooJogsl(116)PJJ&gl&s oo6mo

o€)(o@c6m"? ( 3 )

24, C++ os ogocoe;lei3o o3rnf string
functions go GrocrJ return ereJq (m

oJlaago og)eJroJ6,.

a"cru;j3o3e,c0 6r glor"a6.)"63 
FJ o,"do'

laola,olao3cmoiom roo€ol6,s{lrl:

em{lso]aglos roJdl s]

ojn-lla,olao3rmro3oerc6rIcagg cmg5fnd

oJlodlarolao3e,. (S)

(3)

25.
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Represent the following integers

in sign-magnitude form, 1's

complement form and 2's

complement form by using eight

bits.

a) +25.

b) -30 (3)

OR

Briefly explain any three
methods of representing
characters in computer memory. (3)

Explain the influence of social

media in society.

819
26. -c..r3oos a.c.r6omlolao3rm o.Lgdep

(Yl)o6:{AJog

sigrr-magnitude form-a3o

l's complement form-eJlo

2's complement form-ago

o61$ enngac0 gor ccoJcajlqi o6el6Je.

a) +25

b) -30
(60oflelld

ecrugsc,loc0 oomcllcolld onaoooeog

(3)

represent oe"rgJrmormJgg

o6lonrs1a3o o3cm" oc6r4orad ogogad

oJlconocao3a. (3)

rruo3.'oomilcd social media ol3os

mlcuflcno oJloor$ao1ao1a,. (3)

28. Data processing o6.rnoloeJc6rYs"

crllor:ca o6rro:cem- raoaouacao3cmoi?

data processing 61 gcaogg3Jgg

wnw

What clo you mean by data

processing? Describe the

various activities involved in
data processing.

What is the use of jump

statement in a program? Explain

the different types of jump

state n] ents available in C++.

OR

lVrite a Q++ program that
accepts a list of integers as input

and print sum of even integers

in the iist.

aoJ program o? jump statement

orfl o@cu croJaro oooo"? C++ (6

erreloccoflggg crflollcu rnoo jump
statement 65)9
oJkoalaolao3o.

ooogr,lrd

EoJ aJSo o.:36e6g moo.r;aog input
ror4coJl nu.fl oolao3aa4o G'orrfl er)ag 9oS
fiDoo.l4$os (DJe (.nc6 oej(936,a)Jo

oorg3rmoilm3gg oo3 C++ program

1n-.:O6OrOmOaC6
(5)

a3o1-ql
(5)

(5) ojlojlu-r

crll0a(3oo6oJ&.

29.

(5)

(5) (5)

8I<R-t12


